X K
2, S~ /
5 + 0 +

"
Sy, % % ¢
+ % % ¥

mmss| 17 [mn [ 1:500
™ HRAEIF

= w1
5 3 TEE |,
%0 A WAL R
I AERE B

3t 15 & BT

235 %KY PC4-300 N=16

1387KEBT L=7.9

R=700.0 -
R o

N0. 42714 748

EC8

\

A450. 0
o

NO.35+15.614 R:
NO. 36+0. 067

KAG-2
BCT

TS ($200) 137 7 G
ST KB ($200) L=24.8 L

6EMET 1= L@\/
5o ,\V\/ S8BT - ELEJ
:ﬁ;g;’i L=38.4 ’ﬁ\/ 14. 5?5 = GBMUT (=13.8 | |68mET (=130 ﬁ%gi 6SMET L=31.1 §
=371 L_MI 227 1209 | 725 144 ) Iml L o __J
T ES &M,\J = FRA=T FAN=T L=15.9
. TN L=130 L=15.2
1=8.0 1SHET (- u
ISEET 197 L2y i 1 I I8pET lsmal 1spET L=17.4380HET 15163 3
ISKBT (=29 ,M—”ij 1=13.7 L=16.7 5.
o REET 64 ]| 1mkmr Iﬂ@ 1BEET 38 KBT 1=31.3 1B EET b
L=14.4 L=11.9 L=14.0
b

l\J o mec

P KBTI L=0.7 %51

iL:]ns 28704 15, T h
2870y 1387 za7ayy =950 1BER

TSKHBT L=2.5 /”\
R SEERT L=13.1 BSKEET L=2.0
KBM. 7
2E%KB (BEL) =406, 356 [ 185 Skt
<

KT =67

BERER L=1,112m

%,

%%
~
%
3
e
&
o
,

",




LEL00v f{v9 0% 000008

406. 358

KBM. 7 H:

1v29 ‘668 000 08L

VCR=4100m

1961 "66¢ 6L

Ve ‘868 000°09L

096 °L6€ 000251 21120

685 "L68 120 9%L

5-56-53  R=500. 000

52z "L68 000°0¥L

0 L

1p-7
TL=25.977 $L=0.674 CL=51.907

020 ‘96¢ 190021
1910 ‘968 000°0¢L

15 "68 v19°61L

£08 ¥6E 000001

LE1 v6E 968189
110 ¥6¢

W990 0+=F
0+ 0 G+E ON

87462

Woho 0v=k 518 €68 000089

90,000 G

37-50-47 R

A=

5.2 €68 000099

1P-6

eL1 €68 62659

=
=
2
a
&
&
&

| [5m7EEHETEE KE6-1~N0.37+12

GLL 268 000°0v9

6L 268 151829

5e€ ‘268 000229 0°2+150N
5Lz 268 000029 150N

TR 226 16 000019 010808

480m

1£99 "168

A= 0508 O

VCR:

Ug0l 0K 29€ “16¢ 000009

810 166 061 °565

W20 0K

62 ‘688 000085

73,507

1£08 "88E SLY 695

35000 CL

1900 ‘888 000095

R

Wz0 0vK

78-14-18

520m

0°01+Z ON

l62¢ "L88
981 188 L6€°LvS

WBIZ 0+K
Toy1 0+=

VCR:
I

5

978 ‘988 000°0v5

Wpz0 0+=k

662 ‘988 289128
vvC 98¢ 000028

1699 ‘8¢ 000008

NO. 25~N0. 40

£ fl—

FTYUDHR (| 5 fo) ———-

EHEARTIH
B 58 8 1L B R R
LEBE FR

it 5 & #T

DL = 380.00
B

A




3/7‘:&3#1‘ 1:100

ERBRIE

el ‘

LR

iﬂ!l\g LR #®

THWAR FIEBET FIR

it B & H

R EWR e

NO. 10~NO. 18

ZEBXS ;N3
HETEGEE = 40LLE100K5E (/8 - AM)
CBR>4, %{EMREETA=1411
BRER B 18 [E=500m (#4 ¥4 CBR20%)

(ARM)

F54 L2+ PK-3)1.21/m2 *® B BEEHET A2 (20)

LR HERRRE 0-30)

TREBSE BEIFvr—72RC-40

NO. 18 ~KA12-2 (NO. 56+5. 248)

ZEBXS ;N3
MEEREE = 40 E100KE (/8 - A@)
RATCBR>8, HEMHEETA=11E

_HREEHA (HEE)
(BRF)

IS4 L2~k Pk 1.21/m2 £ B BEBHET R0 (20)

LR HERRRE 0-30)

TREEE BEYS v r—35 > R-30)

KA12-2 (NO. 56+5. 248) ~EP (NO. 65+12. 322)

ZEBEES ; N3
SREATEGER = 40LL L1005 (/8 - M)
CBR>3, H{BEMFETA=15L1 L

Btk (SEEER)
(CRM)

IS4 L2~k Pk 1.21/m2 ®__B _BEFBHET X2 (20)

LEEE HERRRE 0-30)

BEY S YL r—F 2 RC-40)

F54 L3+ PK-3)1.21/m2 ®__B BAEFBHET R0 (20)

8T BEISYIr—5 2R3

SRR ORERET)

AR (HR{4EAT)

£ B 22— kR (0 ck=18N/m2)
B8 T MEEERE 0-30)

£ B 32— R0 ck=18N/m2)

B8 T HEWEREW-30)

B
KA12-1(NO. 53+3.536) (NO. 53 R #F)

AsBr
C1(8E)=

K-
(871 2—LB250)
87097

EL=kBS/E®

HEAH

B a8

A—T VA (LH)

KFYEa (15

EEXTERY (iEd)

BREREEE W<1.0)

BT (1.0SW<2.5)

BEEREET (2.55W<4.0)

BB (4.0=W)

BRERE

ol W<1.0)

Btk (1.0=SW<2.5)

BBk (2. 5=W<4.0)

BAEt (4.0=W)

BREL

EDHDEL

BEBEEE T+

REEE (LH)

KR (8

HBRL (W1<1.0,W2<1.0)

BRL (1.0=SW1<4.0,W2<1.0)

Y LEmER 17 VENER (L8

Y LEAEmER AORMEBR (X8

Jov o MEEER

BEEE ER (73%)

YILEE AR (EEEHR A Tt=50m)

VYU~ MERES

18570y

287095

Toy o BARE
HEEME (REI)

(EREm#T)

(FREm#T)

(BRM)
£/E BESHET X2 t =5em) W1

CREBST CHEMERE 0-30) t =10cm) W2

TREESET (BE£Y 5y v—75> RC-30) t =10cm) W3

i 42 80
KES-1(NO. 27+7.397)

9000

750, 1000, 2750 1000, 2150

— ?
ToBri= — ((0)=  ©
0Br € o)+

(BER)
#IE (BEBHET R t =5cm) W

ERERAMT CHIEEAERE (4-30) t =10cm) W2

FRHEBT (BEHF v r—5 > (RC-30) t =10cm) U3

(REI)

(PE4ET)

AV HEE (REI) t= Ton

Yoy — M (BBEET) t=10cm

&£MET) t=10cn

@
(B8 T) t=15cm

Yy — MEEYMBRIEL (BEH)

Yy — MEEYMBRIL k5

avyy—rJoy JEREL

ARBEL




4,/ 1 ‘m R‘ 1100
EBBRRIE
"o E ‘:‘%

ez #owLoE R OB

Tawh SLEBET FR

it B & H

KE6-1 (NO. 32+15. 920) ~NO. 35

D=15.614
NO. 35

GH= 394.84
FH= 393.815 Fli= 394.807

[6v=0.3] \
1" 3(SE)=1.0]

[CoBr2=0 z

E(SE)=0.3
Fu(D)=0.5
K($E)=0.7

DL=390. 00

HE(E)=1.2
Fu(D)=0.7
K(SE)=0.7

| 0. 0.
K (SE)=0.5
i
TlE esn=0s
Tl Fu)=0.5
7

0=24.071 D=12.164
KE6-1(NO. 32+15.929) (NO. 33@Hf) 2 KE6-2 (NO. 34+7. 836)

GH= 394.36
FH= 394137

[CoBr2=(-

E(SE)=0.2
Fu(D)
Fu(Co
K(SE)

©(0)=0.9

E(SE)=0.1
Fu(D)=0.1
K($E)=0.3

= | | E(SE)=0.2

CoBr1=0.3

Bowa':D 2 Fu(d)=0.1
Fu (Co. 2
K(SE)=0.5

{boBr2=0.2

B4=0.0 6(0)=0.0

125 %K ]
E(SE)=0.4
Fu(D)=0.3
K(SE)=0.6

70.7.30
70.7.40
70,7.50




5/ 7 ‘mﬂ‘ 1:100
EBBIRIE
#® o @

Bez - RTTI -

IHEH FIEBET FIR

L=12.8
FAh=7

Bz

TBABT

D= 8.000
NO.37+12.0

GH= 39785
FH= 397.950

B & H BC7 (NO. 36+0. 067) (NO. 36 FIHR)

KA6-2 (NO. 35+15. 614) ~N0.37+12.0
395,94
396,020

FAh=7

E(SE)=2.5

Fu(C)=1 x’&

KSE=1.0 TBEES g (52110
Fu()

9 -
K(SE)=1 o;g\g
L

EL=394. 770

EL=394. 154
E(SE)=10.3
Fu(€)=10.1
K(SE)=0.6

L
%E!SE‘/:HD

6(0)=0.9 72” Fu(0)=5.9
E(SE)=0.9 o )
Fu(0)=0.6

K(SE)=0.8 K(SE)=1.0

L5
TR

E(SE)=10.3
Fu(€)=10.1
K(SE)=0.6

(18E21) (188R1)

E(SE)=1.0
Fu(6)=0.8
K(SE)=0.6

D=12,000

D= 4.454
KA6-2 (NO. 35+15. 614) NO. 37
GH=397.16

GH= 395.66
FH= 395.751 FHi= 397.225

5L3=1,50
3




1T~128 &K s Lebl2
6/7 ‘m R‘ = SHERBUHKE sty

- JL—F 25 (1-25) ERBE
EBBIRIE iR (B
R#HEANS ' E B RC-40 n?

6 1B 5KB 0.810
T 23 0.810
E E K 2y )=k

aANE LR R & W 388kt 0.810 | B40D-H400 (NO. 63+0.5)
THEF FIEBET FIR ABSkB 0.810

500-500 606+610+50 6304630456
it B & H

5ok 0.810 B300-H510
65 ki 0.810
15 S0kt 0.810
BB 0.810 HEE $350

9ok 0.990 B500-H500%2 (NO. 22+4. 7)
700-500 8154610+50 8404630456
105 7kt 0.990 B500-H500 (NO. 24+9, 0)

= — = —RC1 -

25 JOw i % $1:30 115 ki 700-700 8154820450 8404840456 1.210 P1-RC1-D500, B500-H500 (NO. 19+10. 0)

JL—F % (1-25) =, 125 %kHt 1000-500 1100%610+60 1120%630+66 ). . 1.260
(Wt547) z =

WIn vy #3em L+b1%2

2 TEKBEI s
(PUI-B300-H300)

400

. = o
BAD-L 1ESMEEEKT s
G Ck=T8N/m2 e L v B
PUT-B300-H300
EA))-+ 1250
o ck=18N/mm2

ERA bl
500 250 o ck=18N/nm s P
13

avy
o ok=18N/mm”

ki 47 VU 150 71 P\ 74
Tm2I= B L]

R 10m4 Y
& W ®oo®
FLA xR Ml | PUI-B300-H300

SEKEET
B250-H175 (V4 h)

TRRRUHER o e
avyu—+k
2w o ck=18N/mt
() AvF7Ya-LER | B250-HI75 EE

A-2BIHE BELSIL

EI woo ¥ B B BHELZIL

HHRE RC-40 =100

ATRRR 1.363 Qv -t | ockelaN/mz » l

NN
A-2BIEEE 1.140

| T E®

LI l :y’;l;—r[ Uck:WBM/nmzl m‘[

FRA=T.

ISHET

5.6, 135 KEET s10 150 (I,

4 750 (B87)
(PU3-B300-H300) BEMHET A3 (13m)
(PU3-B500-H500) ﬁ
(PU3-B300-H400)

n. T
» N

LA R LEE

Bvsa
FAT 7L FAFEPKA) 0.4

HHR 1om )

BEUI & ¥ =
13

L =R el

AT A2 > 13m

k3723

Syya—r | K4 0.44/m

10m Y
\ # w [wa] = =

10m% Y
B om [we] w = |

o ok=18/m’ [ n [ L#0.07410 ]

ock=18N/m’ | m

[ — () 1FPUS-BS00-HS00R | )
L

# BELSL [BHELIL 7 L% v 2 MR
(m3) (m3) (X))
SSKBT 0.108 0.002 3 5.0
6SKEET 0.162 0.004 5.0
1357KEET 0.099 0.002 5.0




e TRA

Mo &R R ®

FIEBET FIR

it B & H

1570y Y8 (NO.23~NO. 2455 2 )

$=1/100

(1:0. 4, £=150)

1870y s  L=42.24n

1.00.Gv=0.0

SLi=:

4,75, 6v=0.9

SL1=:

2,75, 6v=0.5

SL1=:

2.70.6v=0.5

SLI=:

0.56.Gy=0.0

SLI=(

A-THER L=43 34n

KAS-1 (NO. 26+1. 682)

*( ) NRIETHRE

1578y 58 (NO. 24~NO. 28fH5AZH) s-1/100

(1:0.4, t=150)

1570y ®  L=1598n

__ 2870y 3 (NO.35{FiRZ{Al)
(1:0. 3, t=100)

§=1/100

2870y y®  L=15.00m

11.00

1,75, Gv=0.4

SLi=]

305.670 395.798

L1=0, 85, Gv=0,

303,990 394.190

11.00

A-2ER L=15.00m

KES-1 (N0, 27+7. 397)

395.548

394. 752

KES-2 (NO. 28+9. 475)

2.33 8.21

0.56.Gv=0.0

L 1=

2.65.6v=0.5
2,65, Gv=0.6

Sl
sL1

2,55, 6v=0.5

SLI=:

4,00, 6v=0.8

SLi=

3,45, 6v=0.6

SLI=:

3.00,6v=0.4

SLI=:

2.80.6v=0.4

SLI=:

23 (8.33)

388.80 388.80

1.10,6v=0.0

SLi=

386,22 38636

384.81

||

384.86

zasi

A-1BEE L=7]

X NMEITFHRS




